i~ 55 140950
ok i2-1

110# 23 X R HFRTFIIHF AR 2
‘b Fp A ﬁ 3 BLA ﬁ SEERES %TJ’;; ‘HJ:Q%\

F o ou paiEd:

¥ B2 R

FpAtlew] D 4 AR

# S e e R

T RER 2 pF A B

>:<~;1§;:<—>ﬁu,w TIVEE
D )R TFE PR {%ﬁ*& FHREPIEAR GIRE L o AR FEE > A A3 o
'j"jj!.'_‘mgﬁﬁﬁiii\'),%!—? PR E HIEE o
i?}“ﬁ“*%F’“?E’é&IPL ]")T\‘%;%?*ﬂk[‘]?_g_xtg

IE%P\ FTIR 1082 25 5§ 3 % 1080802216 54 12 it 2. TR éf#;{;L%%J =
» BRI A o

- SRR A SRR UL K R RATR FlE) R o A
FrAleTe BB A TR Ao 2|97 R RATE FlEQ £ 5 52 7 (25 4)

S TR A RALZ 4 3% ERG R R R R R DR R Mt
BHES ERG S5 fFlfl2 & fo o Rt i =280 kgficm? >
D13 » dy=1.27cm » A,=1.27 cm? » f,=2800 kgf/cm? ; D29 » d,=2.87cm >
Ap=6.47 cm? » f,= 4200 kgficm? - (25 4 )

— DI3@ 10 cm

A J

(o & “4./%)
4 D29 LA
o®
50 cm ﬁ
é x| —
D29 TR %A
¢ 2 9 Y

>

9.3 cmi# 4] 3B

«— 50ecm ———>




5140950
Jox2-2

- Zff% 52 AD-BD % CD 2 % a #£ 4 4 5 V2A~A 2 J2A
E 5tk slifdiige  #REFEBAPLIET T2 084 4 - (254)

L4147 . __
A B C
A
L
V2 V2A
D " A
\ By
HERT R i\.ﬁ-]r’%’rv T4E: SRR TEAELTS 2 E
B R B o (25 4)

4 t/m 8t 4t 4t




